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relatior on X, D, < X x X, as

1 -
xiHDij gy card{k € N: rlj > ar 2 0.5

Evidently,'a‘ za, > -[xinbaixj > xiHDszj, v X , le.
The set of a - majority undominated options is clearly
plausible solution concept.
Now, we can define the concept of an a - coverirg

relation on X, nca < X x X, as

xiHCﬂxj = leDD.ij & xiHank o ‘ 6D
for all x, € X such that x MD x .
: i a’k
The set of a - uncovered options, UHGG, consists then of
those alternatives which are not a — covered by any other
one.

Notice that.,, first, xlej = xiHC

> UMC
a

5. 5’ and second, a, < a,
. S UHCcz. Thus, an obvious solution concept would be
an UHC° # & with a minimal a.

Example 4. Let X = <{a, b, c), and the 3individual fuzzy

Lournaments be

1

a b c a b c a b ¢
N af- .8 .6 2 af- .2 .3 a af- .6 .3
{r’. 1 =Db}.2 - .9 [r7.) =b|.8- .8] I[r . 1 =Dbl.4 - .2
b cl.e .1 - v cl.7 .2 - v cl.7 .8 -
Then: aHC°.4b, bHCO_‘c, and cHCD_za, i.e. when a = 0.2, all
Lthe alternatives are 0.2 - covered, hence UHCo , 1is empty.

vhen a = 0.3, b is covered, i.e. UHCo'z = {(a, c¢), and when a

= 0.4, UHCo o = X. Therefore, it seems that' a choice set

should be (a, c).

The a — Banks set may be similarly constructed. For 4

such that

¢, € X we tind an xj such that xjHDaxi, then an x

k

tkHDij and x, MD x,, then an X, such tha? x, MD x, , xLHDaxj

and xLHDﬂxL, etc. Each such a sequence x. x

L j; Xy Xpseoe

forms an a — Banks chain, and the ~ — Banks set is the set of
:ndpoints of those chains. Obviousiy, the 0.5 - Banks set and
he Banks set are identical.

Clearly, the larger the value of a the more strongly _the

ilternatives have to be preferred to the previous ones in the























